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Operations with Scienfific Notation

“erform each operation. Write your answer in SCIENTIFIC NOTATION!!

..(2><104)+(5><104) 2. (3.5><10-3)+(1><10*3)
3 xo .S X072
3.(8.3 x 10—5) = (4.4 x 10-5) 4. (7.2 x 109) = (5.8 x 109)
-<
39 x IO 1.4 x IO
5.(7.4 x107°) + (5 x‘10‘6) » 6. (7.13 x 10'2) + (8.04 x 10?) 3
-l ¥ - TR
124 XI07°"_ | 94 x 1D 1517 % 0™ = 1,517 X0
7.(1.4 x 102) ~(11x 102) 8. (52x 10-4) - (4.58 x 10-4)
2.-\ \ iy = -5
0.% x[07 = 2 %X |0 b.bZ xm = (.2 xID
9(64><10‘2)+(i7x10"32‘ 10. (5. 92><1014) ~fg,xlo”)‘:
.4 ¥t yq xlb a1 w0 - 0.03 X o'
.87 * ID 5 TD X ID
f 1.(3 % 107) x (1 x 10?) 12. (4 107) x (5 x 10°)
2 x 107 ;.gxlo‘“: axId
13.(6 x 10712} x {7 x 107° . (8 x10°) x (8 x10°
(6 x 107'2) £.7”l10 ) e 14. (8 x 10°) (8“)1?) "
Y2, x Io =4.2x1/0 LY, X ID = Y xID
15.(2x10_3)x(l.1><.1'02) 16. (9><10"7)><(2.5x1‘03)*| _3
2.2 x 10 ays x Io - 2.26 % I0
17.(8><105)+(4><105) 18. (9><107)+(3><102)
2% 10° 3 x 0°
19.(8.4 x 10-4) +(2.1% 10-6) 20. (7.5 x 10—5) +(3x 10-3)
- Le
Y x 10° 2.5 xID
”“*1.(2.3><106)+(4.6><10~9) 22. (6.8><10‘14)+(8.5x1010) 5§

6 - 1y “-2d=\ 10
63 ¥ = 5x0 0.8 X D = ¢ X



